Name:_________________________							 April 13, 2018 
Teacher:_______________________						  Common Core Algebra
Quadratic Function Practice 
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21. Draw the graph of the equations y = x2 – 6x + 3 including all values of x such that [0, 6]. 
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22. Given f (x) = -x2 + 6x – 7 
PART A 
Find an Equation of the axis of Symmetry

Answer: __________________

PART B 
State the coordinates of the vertex 


Answer: __________________
PART C 
Graph the Parabola 
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image4.tmp
What is an equation of the axis of symmetry of
the graph of the function f{x) =2x* - 5x + 37

L5
© x=-3

D) x=>
) x=,
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What are the coordinates of the vertex of the
parabola whose equation i y = 2¢% + dx - 37
A) (13) ©) (155
B) (-2-3) D) 213)
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‘What are the coordinates of the vertex of the

quadratic function whose equation is
flx)=x2 - 2c- 47
A) ) © @24

B) (24) D) (-5
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What are the x-intercepts of the graph of the.
= 9x+207

C) x=54
D) x=54
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‘What are the x-intercepts of the graph of the
function f(x) = x* - 3x - 107

A)
B)
©
D)





image9.tmp
Given the function f{x) = x? +x - 12, what are
the values of x such that f(x) = 07

A) x=-dandx=3

B) x=-dandx=-3

Q) x
D) x
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flx)=2 - & + 11

Show your work.

Circle one: Maximum Minimum

Answer:




image11.tmp
Determine whether the given quadratic function has a
maximum or a minimum value, and find the value:




image12.tmp
32+ 120- 10

f)

Show your work.

Circle one:  Maximum  Minimum

Show your work.

ircle one:  Maximum Minimum

Answer:
fx) = (- 52~ 3
Show your work.

Circle one:  Maximum  Minimum

Answer:





image13.tmp
An equation for a rocket fired straight up from
the ground is h(t) =-167 + 961 where h is the
height of the rocket and ¢ s the time in seconds.
“The graph of this equation s given below.

Flight of a
Model Rocket

Height (feet)

o
0123456
Time (seconds)

What is the maximum height of the rocket?

Show your work.
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‘What is an equation of the graph below?

Ty

TN

}

A

v
A) fx)=-2x-372-5
B) f(x)=-2x-32+5
O) fw)=-2x+3P-5
D) fx)=-2x+3+5
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What is an equation of the graph below?

foy

¥

A\l
A) @)= 47-2
B) fx)=20x-4°-2
e} ﬁx):;xﬂf*z
D) flx) =20 +4)>- 2
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Find the equation of the axis of symmetry and
the coordinates of the vertex for

fx) =-3(x- 5P - 1.

Axis of symmetry:

Vertex:
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flx)=x> - &x +12

Show your work.
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‘Write an equation of a quadratic function whose
‘graph opens upwards and the coordinates of s
vertex are (-35).
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‘Wrie an equation of a quadratic function whose
‘graph opens downwards and the coordinates of
its vertex are (2-7).




image20.tmp
Use the technique of completing the square to write the
given equation of the quadratic function in vertex form.
State the coordinates of the vertex, the equation of the axis
of symmetry, and the range of the function.
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f) =x? - Gx + 14

Show your work.

Equation:
Vertex:

Axis of symmetry:
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image1.tmp
‘The function f{x) = $¢2 + 20x + 14 will have
A) a minimum at (-2,10)

B) a minimum at (10,-86)

C) a minimum at (-2,6)

D) a maximum at (-2-6)
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‘The quadratic function f{x) = 5% + 20x + 14
will have

A) a relative maximum at point (-2,34)

B) a relative maximum point at (2,34)

C) a relative maximum at point (2-6)

D) a relative minimum at point (2.-6)
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What is an equation of the axis of symmetry of
the graph of the function fix) =2x? - 3x- 17
3

A) y=-3 ©) x=

w e

3
B y=; D) x=




